Trigonometry Test Review

1, Solve for x {Hint: Use a® + b® = ¢?)
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2. Solve each word problem:
An Olympic ski jumper drops 51 m . l' A telescope is mounted on a ﬁipod
vertically-while skiing down 5 ft above the ground and 20 ft -
a 120-meter ramp. ' ~ from a flagpole. The telescope .
What is the angle 120 m 51 m must be rotated 52° from
of elevation of horizontal to see the top
the ramp? X ) of the flagpole. How
tall is the flagpole?
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3. An airplane climbs at an angle of 16°. In how many meters diagonally must it travel

o reach a helght of 2400m?
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4. A hiker is walking in a valley and sees an elk on the top of a cliff at an angle of

elevation of 34°. How high is the cliff if the hiker is 75 m from the base of the cliff?
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5. A 6 m support wire is attached to a flag pole that is 4.3 m tall. What is the angle

between the support wire and flag pole?
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6. Solve the triangle.
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Find Missing Side or Angle

Try: Solve for 0%
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